Bihar Police Constable Exam 2012

Questions

1. UAIRTRI® &1dt &1 31 §

(A) ITEiipTCI 3feeT

(B) 98 THY forgesT o5 UfagTie ferfad sarr =8
(c) I8 1Y foraepT TfaeTiie fafad =IRT Suas 81
(D) TABTM SiaETH

2. IR - SI-ITHT I AT
(A) T
(B) S7cIS

(C) GiTTed
(D) STHRT

3. YRdTg Wfaem & fod av d& & s o o : 3o Ua ifard fRren &t sggrin ot mft g2
(A) 68 10 T
(B) 8 ¥ 12 9
(C)8H 14N
(D) 69 14 TY

4. R T BT 3remer 3
(A) TITHT

(8) HETUR

(C) GBI HRIBRI SIBRY
(D) IRUY

5. SR Teh Tcial Y ST

(A) 1971



(B) 1972
(C) 1975

(D) 1977

6.42d AfAYT T=MeH GRT HRATT HAUT &1 oRara-1 # HafaRad faRvar sire! wit
(A) YHROET

(B) W HdalH

(C) TTORTSH

(D) FHTHT

7. iucTRHdI &1 31 §
(A) Forar
(B) TUGTRIG AT T 31 § ¢ & YR TR JTHISD [AHTS

(C) eTfHieh AT
(D) AT

8.2011 P STUMT & TR A3 BT FTeRdT Ufa<rd T 8
(A) 50%
(B) 65%
(C) 48%

(D) 45%

9. HRTIIT AP HIUY & HRITP I U2
(A) BTGTHTS RIS

(B) T 9T

(C) TICTETep 0T et

(D) T 3 &gH

10. YR B TG B T4 BIC] ShTs TH FATR?
(A) TTH UTId



(B) Taem T
(C) ABIHT
(D) ITSTTHT

11. YK Y B GR&T URYG & IR H R4 761 &
(A) 3P 5 T 3R 10 SRR TS B |

(B) ST el 1 99 5 T & [T I 5 |

(C) T SITRIPTY MM=T &1 & H Hag HRal 5|

(D) TE TG ! GHT A & o) TP} Srfie el B

12. YRA BT WaAdl & 916G (9 T Y B HRRI 7GR SRS ST T2
(A) ST, ol TG

(B) TIpad! ISR

(C) TENRIHGN T8

(D) =< ScaTH Ud

13. TEfRUET SMT<IeH &1 RITTT Y B el JST 77

(A) STATERATd A8

14. for-T HRUN & SMYR R URA T s Hfad FANIBR BT TN 51 HR Thdl?
(A) AFRT® ¥4 4 fagpa

(B) TRIS X1 ¥ =9

(C) SfaTTH

(D) fawaiT

15. URA B ITAgad &1 <t T BIRi Bt ol &1 FRE A &1 ISR R & fordds Uy g2



(A) ST T & G A=
(B) FTTHAT

(c) Jgufd
(D) ATATYHR AT

16. fafe=r g Imfae = v uae forg avf & urfed faar ur
(A) 1765
(B) 1765
(C) 1766

(D) 1767

17. 37IE TIE & TR gafT?
(A) 1920
(B) 1918
(C) 1919

(D) 1917

18. TSI ITH HIG I A [ IS §RTS DI T B o [oid Jay fodm T
(A) TGT 9T
(B) g faaTe g

(C) G3MRd
(D) el Tt

19. YRd H T SUMAR &1 ISTET e b1 S+ aTell safad i oT?
(A) TIPS SraHaT

(B) AABII-SI-feq e

(C) TEHI-SI-ITTHT

(D) AP STTHST

20. U RER gRT v 5. H Yl 9 UR SM1Td gl foran mame



(A) 1880
(B) 1881
(C) 1882

(D) 1889

21. HHSTA GHI__Y__T[dlsd] deb HHT S 62
(A) 73t & 120 TrdTed]

(B) 891 ¥ 167 RraTed]

(C) 89 T 13 TrdTect

(D) 641 T odf TraTsdl

22. G 1857 B! hifd B! Y& §s
(A) TS

(B) SRR ¥

(C) RS Y

(D) SR &

23. HITY oY D1 YTe-TaH ITeTe=i &t
(A) TeT

(B) 7T

(C) a=ITeRt

(D) XSFTE

24. 9 gRT gl IR Fiferes i & Urelq a1 ST aral U] ol
(A) HS

(B) S

(C) P

(D) S



25. HITADRT hTUd- = g3dT
(A) HFDTH o

(B) U Tl T

(C) 3MYAD DT

(D) ARIRTRI® BTl A

26. FrAfeifes o1 3idf Fam 82
(A) GRI-UTSTOT T

(B) FET-UTHTU ST

(C) Ta-TTNTOl Tt

(D) I&T S{qRAT

27. fay wafeRuT fgaw FART STl 8
(A) 5 3fFCER Dl

(B) 5 QTS I

(C)5 S I

(D) 5 3T Pl

28. 719 T T S -9 Wi TaTaR0l &1 UeH ol 6?
(A) &dl
() -
(c) are
(D) T

29, THTARUT & A T S TedH| o ST P ST HEA o
(A) ORI

(8) TafaRoT fagm

(c) o

(D) 3N



30, STeTyTd &1 A0 g 7 A fpa sRe grIgaTe?
(A) Tt

(B) Ua

(c) fewmit

DIEER

31. fa=g, SgT YU &1 IR Bl 8, e o
(A) SHfAB=

(B) YebU bt

(C) YT ¥@n

(D) I A&

32. SATATH! & 74 B! Hed &
(A) b=

(8) ”IP

(C) SaTaTgRdt

(D) bR

33. 99 & ¥ 1991 TidIepRuia Tame T8l 82
(A) TR Holl

(B) TG SFD

(C) T TTuY

(D)ad

34. HRA P Ut de IR T Ioy, e} dexar Jad sl 8, 98 §
(A) PrfeH

(8) RS

(C) HeRTE



(D) IRId

35. SIfqd AT H1TH ITEI §
(A) TTpfdieh T

(8) U

(C)ad

(D) AR Sl

36. X, Sl HR o1 “eble UTerg & =19 J ST W1 8, 98 8
(A) faeeit

(B) SIcIhTT

(C) TS

(D) =S

37. THER, S URER I I & To: WU H g, I8 8
(A) TiaT

(B) BT

(€)W

(D) Ttd

38. YU I YT 31eqa Heard g
(A) Ymed fag

(B) RrAoT®H

(c) Ryerarait

(D) AT

39. g AN, 7d @1 Rauu frar gr s=ar g?
(A) HRA
(B) ATH



(C) el
(D) {1

40. YT+ 3R N+ S B! ! AT g
(A) USRI 3R A1fas
() HTI=T 37X AIeh
(C) TR 1R A1
(D) TR 3R A5h

40. YT+ 37RT 3R T+ o b T TR §
(A) T SR TfddH
(B) HTCIRT SR 1A
(C) U 3R 1Teh
(D) TR 3R A5

41, JIATH GHN FT faugdied Ve §
(A) SR wTeT e, TE-agehife

(8) SR T A TGRY

(C) 3T & AT S - HHYRT

(D) 3L T ATCH - Sg JHN

42. 73 IUT O 99 Teg H1 ST AR ©
() g, Frata, fara, e

(8) ey, fFAny, feq, s

(c) FRYy, fAarur, fAgad, Fey

() e, fAue, vy, ARy

43, 370 YalU SRS B TG U7
(A) HTSTT SR T



(B) HTS AT 3R S8
(C) HTS T 3R Tgl!
(D) HTS YT 3R FBI!

44. U8 TSH] 9gd Yrax ¢ AT T ASH " Usg FTG?
(A) R

(B) Ua

(c) fa=Iwor

(D) §I=TH

46. 5" BT AT &Y T Tl T &
(A) ST

(B) ST

(C) 3fIed

(D)@l

47. fa%y IR WiTe- &1 e R B
(A) ST

(B) URH

(C) AT

(D) ailh

48. YR FEars), for g1er 81 7 ¥ 2012 3. T 0 QU T TSR AT fHar T g, a8 8

(A) g1t 8
(8) W dgadR
(C) Hes Rig 4t
(D) AR~ gaNT

49, 3fdRel H S aTelt Ugelt YR Afgar o1 e



(A) e =TTl
(8) it
(C) IRE 3fedl
(D) e faferamy

50. ARII! THTT QREBR for & § fafRie i o fore fgan S g2
(A) BAEG

(B) TTHIFSTS BT

(c) Tfg

(D) fa=TT Ud Trefirest

51. e NAfIH 2012 FURA GRT__ HSA oild T |
(A)5
(B)6
(C)7

(D)8

52. FEHJITE U b8 el § JS1 87
(A) g

(B) IS

(C) SSftied

(D) gTep

53. T A I5H R gl aR fhg au §f ;R 3@m?
(A) 1965
(B) 1968
(C) 1969

(D) 1871

54. Something is wrong with one of these singular plural sets. Identify it:



(A) Minimum-minima
(B) Stimulus-stimulses
(C) Symposium-Symposia

(D) Radius-radii

55. Choose the correct sentence:

(A) Mohan is the most tall student in the class.
(B) Mohan is the tallest student in the class.
(C) Mohan is the taller student in the class.

(D) Mohan is the tall student in the class.

56. Which of these is a feminine gender of blond?
(A) Blonde

(B) Blonde

(C) Lass

(D) Mistress

57. Supplby the correct form of the verb: It ___ so hard that it seemed a grey sheet had curtained the world
away.

(A) is raining
(B) has rained
(C) have rained

(D) was raining

58. Choose the correct sentence:

(A) If I will win a lottery, | will buy a car.
(B) If  am win a lottery, | will buy a car.
(C) If I win a lottery. | will buy a car.

(D) If I would win a lottery, | will buy a car.

59. Fl the blank with the correct option. Of Kartik and Urmila, the is a more versatile singer.



(A) latter
(B) later
(C) earlier

(D) latest

60. One of these is not singular. Identify it
(A) Book

(B) Data

(C) Economics

(D) Mouse

61. ITY DI 3@ T FT IR AT 82
(A) TITHT DB

(B) i PRI

(C) tferar

(D) U

62. TR BT Y HuT 1T 82
(A) dTT TR Bl & |

(8) HH T Yo BIAT 5|
(C) SIS 9T god 1T g |

(D) The BT 5|

63. 3{UST ¢ aTel WURT HH-I1 52
(A) STEFT

(B) fewTdie Y

(c) Frs

(D) =

64. el &1 UH Yoo B UT?



(A) $d8- 3G U§h
(B) §TelR
(OESNINEKIE

(D) Ry ofdt

65. ST I DIH-91 TR SUTRIT 9ia SfAHHoig T8 g |
(A) TTRCa P Actt

BERIBIEEECIRRI

(C) B

(D) TSI

66. R1aTd, 5Td, Uall, TS! ASa 3R DI S I ST TER Y7aT H SSI¢! (DDT) BT K0T fhd s &
oY 31fH g

(A) STt Teft
(B) QAT

(C) Bt Tl
BESRERI

67. pdl AT §?

(A) TRiTdT

(B) YRITthiedH

(C) TReNd Td AWRIfpfess gt
(D) SdIcPh

68. UfSfea WisH A e glaT 62
(A) RIS G

(B) TGl

() ATHTRIS Td Wfrel g1

(D) faer# =




69. fp g Terd & gRag & ford Meli b1 ot anfedr?
(A) TTHT
(B) @Sl

(C) gRIE
(D) &

70. T 3{ddd o & ford 9% &1 gol &1 forg sn g
(A) BT

(B) &

(C) HHT & HHT BT

(D) T P! AT I I W R FRAT 5

71. Tt 1000 A TR T 2.2 TR URT YaTiRd gich & | Uferkie & RRY & e favar fsa ghme

(A) 100V
(B) 220V
(C) 200v

(D) 150V

72. AT BT B IUfRUTS Trrefores gt 8
(A) SITSCH

(B) SIRIBTEc |

(c) TiwTgey o

(0) BRrpTECH A

73.'G' BT AH R 51l 57

(A) 6.67x10 -T2, /fHT.
(B) 2.6x10-1* g&-H12. /fa .
(C) 9.8 x 10" IA-H2. /[,



(D) 1.2x10° geH-412. /fa U,

74. T 9] [l & dTs h' ¥ Gad 9 § IR TG 5 | 39 fordl o farmg TR 1ot Soott T A1 =g ghTe
(A) A
(B) B
(C)c

(D) D

75. U SAfad fafNa M § 3R =15 & UTdl ¢ | fad & 5 A1 & 9 §
(A) ST

(B) Y&rHTaT UfRraT

(C) BI=d

(D) JeH

76. 3@ d 9% IR fhaT Ut o T @1 82
(A) 20 e

(B)30 e

(C) 10 e

(0) 0 <G

77. a1 50 3R 1000 & UfeRrel fopdt uluy & Jufira A 9 €1 4 fadweu dua @
(i) &1 TR o Ste fIUTa=R SIeRT-S(eRT 8T

(i) &I uferrel & o faHTa=R T g

(iii) 50 TfaR1Y & ford fayaT=aR 100 aret UfoRTe A g1 g1

(iv) 200 TfaRTY & ferd fayarR 52 aret ufoRie & g1 g

Iuded fadedl o eI HH-Y fawey T8t 82

(A) (i) d (i)
(B) (ii) g (i)
(C) () d (iv)



(D) (ii) 9 (i)

78. F0 T Y S 1-I1 IR ST ST HEH T BT P ST YT H fEams Sarg?
(A) TRTT

(8) TG TTHBY

(OERSEINEAL]

(D) oI

79.’Cﬁﬁx+§=3 ?‘ﬁ4x2+x—12$mﬁaﬂ13ﬁ:
(A) 32
(B) 17
(C)13

(D) 25

80. ST far it axg 1 HeafeR SR e S dd I=Iad foeg TR ¥ BT HTH T §NTI?
(A) fTIHaH

(8) TITH TifebT Tel

(C) 0

(D)+/9.8

81. 10 . B HIHY g1 b I0d ¥ Td 20 JHT. BT g3l & U 3faad a4 &l JaH it fRufa o
e 3QT ST § | 9gad g Th

(A) 3TTA AT BT HH BATE |
(B) TS &I BT HTH HIAT ¢ |
(C) BY I AT B Al Y BT HTH BIAT S

(D) GHIS UfeehT oGl HTH BT g |

82. 19 TR 1: 2:3 F IUTA A § 3R ITHT HewH JHUGID 12 § | TEATE H1H-31 g2

(A) 12, 24,36



(B) 5,10, 15
(C)4,8,12

(D) 10, 20,30

83. TG 7T BT &AW 1386 THI2 B, 01 S ST
(A) 1617 THT
(B) 3234 THT
(C) 4851 JHt
(D) 9702 TH

g4. FUfaiad o @ o1 - T uRag g2
(A) %

|2

© =

(D) 742

85. GHIBRUT 56+ 4+ 52 = 126 P I &

(A) 2,1

(B)-2,1

(©) 2.-1

(D)-2,-1

86. Tfe I o1 f3euf Ta Srura # fauford oxar 8, @ agqys
(A) THR TGS

(B) GHTS TGS

() 3mad

(D) &

87.10g10 [0.00001] b1 HIT T gIT?



(A) -4
(B)-5
Q0
(D) 4

88. TG m TREAT3M BT AT n TUT n T BT 3A m, Al S (m+n) TSN BT ST T
(A )48

(B) m+n

(©) mn

(D) 480

89. % 30,000 T 7% AT TS D1 &2 W Thft THT SIRTa & forT Ikl STt 4347 B | TG &
RIS 1 DY

(A) 2 a9
(B) 2.5 Y
(OEKL
(D) 4 T

90. gufgaTg £ABC, H gf¢ AC=BC Td AB? = 2BC2dl £C= ?
(A)30°
(B) 45°
(C) 60°
(D)90°

91. Tre yerdf % f3al R Rics & sreira o1 %1 oy e & ife
(A) feT &t srden i T BT B

(B) fe1 Pt 3tien ik &1 a1 1Y g |

(©) foa1 o} s i siferes siffrarsiia B

(D) o Y 3den e w11 siffomarsha 1




92, TP SHoll Tl H HH-I1 S TN BIdT 82
(A) UTpTeies RiTH
(B) U238

(C) U236
(D) Fafdd

93. Cr* T (So.) &1 AMTH §
(A) Cr3(SO4)2

(B) C(SOa)s

(C) C(SO4):2

(D) Cr2(SO4)3

94. YT &R g B F frgeT sgas 77

(A) T

(B) ST

(O 3d1F

(D) FARIUH

95. 9 & I frud Ut &1 MHR HFRRIE o1 W grar 32
(A) IRTdD fIera prarge! faaa FHeie

(B) FFicia pIaRs! faaas arafds faayq

(C) aRdfae faaa1< fFds prags! faaam

(D) BTSS! oy fFesw arafde faeaam

96. 6C" H g B TS et ©
(A) 6

(B) 7

Q8

(D) 14



97. 91d d JCI FT dIg Juf WR STl ST B, o 19 Fdpardt 8
(A) Cl

(B) Hz

(C) Cl, Td H, gt

(D) T8 A BIS Tel

98. I # IR TP S8 DIF-11 82
(A) TifergH

(8) XFaw

(C) TTEGISH

(D) 3T BT

99. 49 & A B Sa A Sl BT Fd 181 @
(A) b S!
(B) &R

© 3|3§;|G|:|
(D) BT

100. TeTY 1 T BieT HUI S uerd F qe ARwdT ST 8, 98
(A) AifEw

(B) A

() forgor

(D) 87



